Edubull

EXERCISE # 1

Q.1

Q.2

Q.3
Q.4

Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

By Using property find value of (Q.1 to Q.3)

Subtract the first rational number from the
second in each of the following:

35 . =14
Vs RICAC

-2 - 11 -4
(iit) o 1—? (iv) 313
(vii) _76,_1—23 (viii) ;—jg—;

The sum of the two numbers is g . If one of

the numbers is %, find the other.

The sum of two numbers is _?1 . If one of the

numbers is _le , find the other.

The sum of two numbers is _?4 . If one of the

numbers is —5, find the other.

The sum of two rational numbers is—8. If one

of the numbers is _TIS , find the other.
-7 5
What should be added to ry S0 as to get 5 ?

What number should be added to I—f SO as to

26
et —?
£33

‘What number should be added to _—75 to get _?2 ?

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

What number should be subtracted from _?5

5
to get —?
8 6

What number should be subtracted from % to
5
t =72
ge 1
2 3 -2
What should be added to | —+— | to get — ?
35 15
1 1 1
What should be added to [E + 3 + gj toget3?

What should be subtracted from [% —%] to

-1
et — ?
=%
Simply each of the following and write as a
rational number of the from 2
q
L3 5 -7 2 =5 7
S+ — e
W3rs s W3y
(iii)_—11+z+_—5 (iv)_—4+_—7+_—8
2 6 8 5 10 15
) _—9+2+£ (vi)§+i+_—7+3
10 15 -20 3 -2 3

Express each of the following as a rational

number of the form P :

q
(i)__8+__1+__11+§_3
3 4 6 8
(ii)é+1+_—7+£+_—12
7 9 21 7
(iii)1—5+2+_—11+6+_—7
2 8 3 6
(iv)_—7+0+_—9+£+£
4 5 10 14
(V)_—7+§+_—1 _—5+2
4 3 2 6
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Q.19  Simplify: W) -9 o —64 (vi) —50 XE
(i)_—3+§—1 (ii)é_er__z 16 -27 7 3
2 4 4 3 6 3
— — - .. —11 =81 oy =72
(iii) 212 (iv) 2_3_A (vil) —x (viil) —x
4 6 3 5 10 7 9 -8 -25
(V)§+_—2—_—2 (VI)E—_—2+_—5
6 5 15 8 9 36 Q.23  Simplify:
Q.20 Multi7p1y: s s . 0 [2 E]_(éx—loj
) — by = i) = by — 8 5)\5 9
(1) TR (i) -
ey —2 5 -3 -5
(i) — by = (iv) — by — iy [Lxl )+ Lxo
99 1316 1711 _421 " 29 ZX
(v) — by — (vi) — by —
-7 -11 13 7 2 2
3 4 15 (1i1) [_SXEJ_[_6XEJ
i) —— by —— ——by7
(vii) 5 y - (viii) T y
Q.21  Multiply: (iv) (;Xg}_[%xgj
. =5 51 ... —0 =55
i) — by — i) —by —
® 17 y—60 @) 11 Y 36 15 Y.
8 5 6, 49 © [—_X_}(_X_]
iil) — by — iv) — by —
()25y16 ()7y36 3 -5)\7 15
8 -7 . =8 3
ik e T B o (2x5)-(32<5)
5 3 2 3
Q.22 Simplify each of the following and express
the result as a rational number in standard (vii) ﬁxﬂ (-4 y 5
form: 7 26 3 6
. —16 14 o 7 3
(1) —x— (i) —x— B B
a3 - iii) [ Sx 22 ]+ [ 212k
. —19 . —13 27 2 10 16
(i) —x16 (iv) —x
36 9 =26
ANSWER KEY
EXERCISE # 1
L2 2.1 g
28 126
R ST B AR A 15 5 .3 1 .05 2 11 11
4.(1) — (1) — () —— (Av)—— (v)— = (vi) = (vil)) —— (vii)) —— 5.-— 6. — 7. —
()4()9()11()13()8()2()14()66 5 3 3
8. -4 9. 103 10. 41 11. 1 12. ) 13. -2
7 72 32 21 2 28
14. itk 15. > 16. 1
5 30 4
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EXERCISE # 2

Q.1

Q.2

(a) Zero has
(b) The numbers and

Give examples of

(a) The rational number that does not have a
reciprocal.

(b) The rational numbers that are equal to
their reciprocals.

(¢) The rational number that is equal to its
negative.

Fill in the blanks.
reciprocal.
are their own

reciprocals.

(¢) The reciprocal of — 5 is

(d) Reciprocal of 1 , where x # 0 is
X

(¢) The product of two rational numbers is

()

Q.3

Q.4
Q.5

Q.6
Q.7

Q.8

Q.9
Q.10

Q.11

always a .
The reciprocal of a positive rational number
is

Represent these numbers on the number line.
"7 o
(i) - (i) =
4 6

Represent =2 R =5 , =2 on the number line.

11 11 11

Write five rational numbers which are smaller
than 2.

Find ten rational numbers between —2 and 1.
5 2

Find five rational numbers between.

N 2 4 ... 3 5 1
— and — — and —
(1) 3 an i (i1) 5 3

o 1

ii1) — and —
(i) 4 2
Write five rational numbers greater than —2.

Find ten rational numbers between % and %
What expression to be added to

(5x2 — 7x + 2) to produce (7x2 - 1).
(A)2x2 +7x +3 (B)2x2+ 7x - 3
(C) 12x2-7x +1 (D)2x2-3

What must be added to

1 — x + x2 — 2x3 to obtain x3 ?

(A) x3 —x2 +x-1

(B) - 1 +x + x2 - 3x3

(C)3x3 - x2+x-1
(D) None of these

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

What must be added to the sum of
4X2+3x77and3x2+6x+5t0get: 1?
(A) 7x2 +9x -3  (B)3 - 9x — 7x2
(C) 7x2 + 9x — 2 (D) None of these

By what number should [LISJ be divided

. 1
so that the quotient equal to [—Sj .

Simplify each of the following :
o] ey
Simplify :
of3) ()
w@ -G )G

-1 &3
Evaluate : 8 2:5

Simplify:

. 25xa’t . 37 x107 %125
(1) () ———=—

53x10xa”® 57 x67

By what number should (Jf)*2 be multiplied
so that the product may be equal to 1022

By what number should (~12)~! be divided

-1
so that the quotient may be [%] ?

-3
By what number should [_73] be divided

-2
so that the quotient may be [2;47] ?

3 -6 2m-1
Find m so that g X g = [gj
9 9 9
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ANSWER KEY
EXERCISE # 2

1.(a)0; (b)land(-1); (c)0

2.(a)No; (b) 1,—-1; (¢) —; (d)x; (e) Rational Number; (f) positive
1 Y D
30T T2 a6 CWTEE TS 0
4 4 4 4 4 4 4 6 6 6 6 6 6
4 1 T ' o o
111029 8 7 6 =5 —4 3 2 —1
11 11 11 11 11 11 11 11 11 11 11
| -1
5. Some of theseare 1, —, 0, -1, —
2 2
. -7 s _—6 R - R _—4 R _—3 R _—2 R _—1 ,0, .. i i (These can be many more such rational numbers)
20 20 20 20 20 20 20 7207 20
42 43 44 45 -7 1 10 11 12 13
7()—— ()— —.0, — ()——
60" 60" 60° 60" 60° 6 66 327327327327 32
(There can be many more such ratlonal numbers)
8. _73 ,—1, _71 ,0, % (There can be many more such rational numbers)

97 98 99 100 101 102 103 104 105 106

160 160 160" 160" 160" 160" 160 160 160 160
(There can be many more such rational numbers)

1 1 .. 64 1125 24
13. — 14. 1)) —; (i1)— 15. (1) — = _; =
3 ()625 () () ()256 ; (iii) P
4
16. 250 17. —a ; 5° 18. —
(1) ; (i1) 55
-1 4y
19. — 20. -2 x [—j 2l.m=-1
18 27
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